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— Draw the shear and moment diagrams for the beam. (25%)
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— .Determine the displacement at C for the beam shown in Fig. El is constant. (25%)
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=.The state of plane stress at a point is represented by the element shown in Fig.

(1) Determine the state of stress at the point on another element oriented 30° clockwise from

the position shown. (10%)
(2) Determine (a) the principal stresses and (b) the maximum in-plane shear stress and
average normal stress at the point. Specify the orientation of the element in each case.

(15%)
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Y.A T-beam has dimensions and this beam is subjected to loads shown in Fig. Determine
(1) the maximum bending stress and (2) the maximum shear stress. (25%)
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